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PAPER -1

Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory.
50 Q x 2 M = 100 Marks

1.  Which of the following set of statements best describes the nature and objectives of teaching ?
Indicate your answer by selecting from the code. ]
(a) Teaching and learning are integrally related. &
(b) There is no difference between teaching and training. -.r‘; )
(c) Concern of all teaching is to ensure some kind of transformation il? students. - .
(d) All good teaching is formal in nature.
(
(

e) A teacher is a senior person. {
f)  Teaching is a social act whereas learning is a personal aéz;c. f
Code : y L {
(1) (@) (b)and (d) (2) (b) (c)and (e) ﬁ}‘)’{ (@) (€) and () © (4) (d), (e) and (f)
|
2. Which of the following learner chamcteristiqsIlI is highly r_élated to effectiveness of teaching ?
(1) Prior experience of the learner '
(2) Educational status of the parents of the learner nj
(3)  Peer groups of the learner -
(4) Family size from which the learner comes. r

</
3.  In the two sets given below Sét £ I indicates methods of teaching while Set - II provides the

basic requirements for succéss/effectiveness. Match the two sets and indicate your answer
by choosing from the code :

Set-1 . @ . Set - II

(Method of teai'ching) (Basic requirements for success/effectiveness)
(a) Lecturing| (i)  Small step presentation with feedback provided
(b) - Discussion in groups (i) Production of large number of ideas
. (¢) Brainstorming. (iii) Content delivery in a lucid language
{ (d) Programmed Instructional (iv) Use of teaching-aids
procedure |
(v) Theme based interaction among participants
Code : |
@ (B (0 (@
DYy 6) @) ) @)
(2) =@ (@) @) ()
G) @ v @ @
@4 (v) @ @ ()
el TR
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WT-Ua -1

e : W Y-S H Uend (50) Ig-foshed ™ U E 1 TE U & o (2) 31k ¥ 1 |t we eifrart €
50 9T x 2 3ok = 100 3HH
1. frfafad § § S oA a=a e ot yaia i) 389 &1 399 & § foern wqd i § 2

e feu MU e H F o799 I A gHAT

(a) Toreror iR erferm sifafse w9 @ Heiftm €

b)  freror oiR fereror o sfier IE AR T T /
guEd freror 1 TIER Bl H $© YHR & EUAR0 B AT HE ﬁ%;l'cﬂ%\’l "rtr'

(

(©)

(d) TFE oT=s1 frer yehfa # Sio=i 2 g |

(e) Toerr weh afts =afaa drm 1 _

(f)  Toreror ww wrIfSIR e ®, St sifenm wsk sAfamd Fe %L

e il , {

(1) @ G)IREA) (2 () (© I (e) ;35‘ (c (4)  (d) (e) (D)

2. 3furHRal st ffafed § 9 St foeem ﬁ]?i%ﬂT Edl |o||t*4|qehcu Y Id Y § Geiferd § 2
(1) e 1 qe-3g9e i
(2) AfermHSl % AfuuTasi 1 S TR
(3) AferTHRAl % Weft TR A
(4) URER =1 R, S sqfwma@‘f @ 3T

3. ﬂ%ﬁqwﬁwg&@ﬁw Iﬁﬁmﬁfwgﬁmaﬁnﬁ% SeIfeh A= - 11 H Foherdl/
Hﬂ@ﬂmaﬁqﬁaﬁmﬁﬁ%l T QM1 I bl gaferd wifeg $iR e fou T e # 9 ot

wper w11

( Foregur fafir ) ( AT/ FUTETATEehdT Sl Tel SATATIRHATT )
(a) - =AM el () gl wfed o o § wgfa
J(b) wHEH=E (i) oS gE | fo=mi &l g=ga
| () ﬁaméw;rf%m (iii) TT wTeT H foeeEEq 1 g
(d) sifushfia sFReH =t gfa (iv) Toreror-Susheoll st STEnT
: .I (v) afaairEl § gertor-enenia vrfert
gf (@ (b) (o) (d)
1) Y@ @ @) @dv)
gy
4) (@v) @) (@) (iii)
eooss [[{MIHIONINNE -
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4.  From thelist of evaluation procedures given below identify those which will be called ‘“formative
evaluation’. Indicate your answer by choosing from the code :

(a) A teacher awards grades to students after having transacted the course work.

(b) During interaction with students in the classroom, the teacher provides corrective
feedback.

(c) The teacher gives marks to students on a unit test.
(d) The teacher clarifies the doubts of students in the class itself.

(e) The overall performance of a students is reported to parents at every thfee months
interval.

(f)  The learner’s motivation is raised by the teacher through a question-answer sgsswn
r
Code : f

(1) (@, (b)and () (2) (b) ()and(d) (3) (a) (c)and(e) (4) (b) (d)and ()

L

r

5.  Assertion (A) : All teaching should aim at ensuring learning.|
Reason (R) : All learning results from teaci}j,ng. P
Choose the correct answer from the following/code : |

(1) Both (A) and (R) are true, and (R) is tH'e correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is nbt the cé‘rrect explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true. y .

-

. |

!
6.  There are two sets given below. Set £ I specifies the types of research, while Set - II indicates
their characteristics. Match thﬁ twotand give your answer by selecting the appropriate code.

Set - 1 = Set - II
(Research types) (Characteristics)

(@) Fundamental research (i) Finding out the extent of perceived impact of an

i intervention
(b)  Applied research { (i) Developing an effective explanation through theory

_ building

(c)  Action rdSearch (iii) Improving an existing situation through use of

F 4N interventions
\ (d) Evaluative geselarch (iv) Exploring the possibility of a theory for use in various

' situations

(v)  Enriching technological resources

Cocie: |
L@ ®) @ @
M@ @) @ 0
@F@ ) @ @
®) @ (ﬁ) <ﬁi> @V)
(4) (@) () G
eooss [ HII IHIIHIIIIIHI\ ;
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4.

= St T oA UishaAeT H | SHeh! UgHH ehitere, fSrEeh! oI e’ el S § 1 A
QU 7T Fe i1 YA A G 3T IW I AT :

(a) Torereh TreTshy &1 S G HA F G BE TS @R

(b) Torere e & SE % Wy Fd:foran & <R gaRIeTs wfagfte g €1

(c) Torerh 3ot adiaror | BT 1 3ieh A1 2 |

(d) forerer sen B € ST % WG Il T HIAT R

() BT % Tu Fura 3 R § Yo d T 3 Sicrel T ST B it Frdl s ¥
(f) Torers Je9-SR 9 & AreAg | ekt st Afagon | gfg R S L

(1) @), 0)IN© (2

(b), € IR(d) (3) (a), () AR (e) (4

AFURT (A) : T TeT0T i S AT hi Gt T e t{lr‘aﬁ.'{l
T (R) : waﬁwﬁwww&vﬂﬂzjg}%l P
ﬂ%ﬁ@ﬂ@%ﬁ@wwﬁgﬁq .'

(1) (A)TH (R) 3 W& & 3iv (R), (A aﬁaﬁm% J

Q) (A)TE (R) 3 T E A (R ﬁ@w%ﬁ%

3) (A)ﬂ%“f% AfH (R) Tord 1

(4)  (A) T, AAET (R) TAST 4

I g fou T ¥ Wﬁlﬁyﬁa%wﬁ:@q% Sfeifer TR - 11 H et fersroand
gfa i T T Eﬁﬁqﬁﬁﬁﬁﬁqaﬁiwﬁwwwwﬁwﬁaﬁq
T - 1 e - 11

(vﬁaa;uw) ( fergtoard )

wiferen T () =8 % ST FHTE T Tl Sl

a) (
b) =R WY (
c) TsharcAe ghg (i
G n@l%h——r—qﬁf Ty (

a)
7 (i

)
"W
)

¥
0
1l

(i

fagia fmtor & mieam 9 gurEcdgs A & faed &t
ALY o IUART o HILAH § Ao feafa § gur @

fafie feafaai # swam & fau fagia St T St Gee
CGI

Tifaferes SEIEAl ol TG B

5 P.T.O.
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7. Which of the sets of activities best indicate the cyclic nature of action research strategy ?
(1) Reflect, Observe, Plan, Act
(2) Observe, Act, Reflect, Plan
(3) Act, Plan, Observe, Reflect

(4) Plan, Act, Observe, Reflect

Ty

8.  Which of the following sequences of research steps is nearer to scientificrmethod ?

(1) Suggested solution of the problem, Deducing the consequences of the solution, Perceiving

the problem situation, Location of the difficulty and testing the solutions.
AN G

(2) Perceiving the problem situation, Locatifig the.actual problem and its definition,
Hypothesizing, Deducing the consequences of the suggested solution and Testing the
hypothesis in action. f \ f

/ ]

(8) Defining a problem, Identifying the causes o% the problem, Defining a population,

Drawing a sample, Collecting data and Analysifig results.

(4) Identifying the causal factors, thlmng the problém, Developing a hypothesis, Selecting
a sample, Collecting data and fll'l'lVll’lg at generalizations and Conclusions.

Vi .

9.  The problem of ‘research ethics” is concerned with which aspect of research activities ?

i,

(1) Following the piescﬁ{bed format of a thesis

(2) Data analysis through qualitative or quantitative techniques

(3) Defining tlr}e population of research

(4)  Evidence based 'research reporting

10. Injwhich of the following activities, potential for nurturing creative and critical thinking is
ref‘atively greater ?

J

(1) ™ Breparing research summary (2) Presenting a seminar paper

(3) Participation in research conference  (4) Participation in a workshop

eocoss [1NIAVORNINNLET
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7. Toramramd % fAfafea Sy § S gy fharmes sy W ot Fehid Tahid o SATd w

€2

(1) & foad 3, 9eqor s, s, foranfatd
(2)  9&I0 T, TR, e e e, e
(3) Torenfafa, FASH, GaT0 ST, Mo foad &
(4) TS, forenfafa, GaTor s, e feoad &

2

4

f
8. Wy uel o Fefafed § 9§ shiA- mmémﬁmﬁfaésﬁm%7

(1)  WEE 1 FEAfT FHE, FATE TR0 b1 FIH 5, Hﬂwﬁﬁaﬁrﬁa@%w
HfSATE i T8= TR FHILM 1 THE0 | 3

(2) TEE i fefd @ ega +, Wwﬁwaﬁwaﬁiwﬁwﬁw IR L,
WWW%W@WW@T?WWWﬁWWI

(3) HHEE T IRV AT, THET o HRON hl ﬁé‘wwaﬁvﬁuﬁﬁm EIRENIC|
wmwwaﬂ?wﬁmwﬁﬁwaﬂﬂy f

(4) RUI-TcTh FRT FI TEEM R, HEEAT HI IR BT, TRebewT S, Fface w1 =,
3Tkl T UG aﬁiwwﬂ%mamﬁram‘fmq@m

9. ‘viry Afcrerar’ t wHE WY, fRaTRaTdl % fRE wee § Heiftd § 2
(1) sﬁausfaa;ﬁa;ﬁwkwm@
(2) « VO FRHTAHE Teh-1eh] o HILTH § 3fihel o fageioor §
[ ) aﬁaasw‘“ﬁq&mmwa
4) Teg-smeniia sy fedfén |

2

4

|
10. frfefea § | ford foramreny § gomsier ik wefterrcres feia & Sowor ot atfren e &2

(1) G T ) T PR EE eump e——
(3) ¥y wHe § A (4) =N & wnfer
eoooss [ NNMAIDNIHIIIET - P10,
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Read the following passage carefully and answer questions from 11 to 15 :

If India has to develop her internal strengths, the nation has to focus on the technological
imperatives, keeping in mind three dynamic dimensions : the people, the overall economy and the
strategic interests. These technological imperatives also take into account a ‘“fourth” dimension,
time, an offshoot of modern day dynamism in business, trade, and technology that leads to
continually shifting targets. We believe that technological strengths are especially crucial in dealing
with this fourth dimension underlying continuous change in the aspirations of the people, the
economy in the global context, and the strategic interests. The progress of technology-lies at the
heart of human history. Technological strengths are the key to creating more productive employment
in an increasingly competitive market place and to continually upgrade human, skills. W"iﬁput a
pervasive use of technologies, we cannot achieve overall development of our people in the years to
come. The direct linkages of technology to the nation’s strategic strengths are becoming more and
more clear, especially since 1990s. India’s own strength in a number of coreareas still puts it in a
position of reasonable strength in geo-political context. Any nation aspiring to become a developed
one needs to have strengths in various strategic technologies and also the ability to continually
upgrade them through its own creative strengths. For peoplée-oriented acti¢ns as well, whether for
the creation of large scale productive employment O?tibr ensuring nutritional and health security
for people, or for better living conditions, technologyjis the only vital input. The absence of greater
technological impetus could lead to lower productivity and wastage of precious natural resources.
Activities with low productivity or low value addition, injthe final analysis hurt the poorest most.
The technological imperatives to lift our people to a newgif and to a life they are entitled to is
important. India, aspiring to become a major economic power in terms of trade and increase in
GDP, cannot succeed on the strength of turnkey projects designed amd built abroad or only through
large-scale imports of plant machinery, eq@ipment and know how. Even while being alive to the
short-term realities, medium and long-termystrategies to develop core technological strengths within
our industry are vital for envisiorﬁng"&dr‘;?eloped India.

Vi
11. According to the above passage, which of the following are indicative of the fourth
dimension ? .
il -
(a) Aspirations of peoplé (b) Modern day dynamism

(c) Economy, in the global context ~ (d) Strategic interests

Code :

| 1) (a), (b) andﬁc) éinly (2) (b), (c) and (d) only
(3) (a), (c) and (d) only (4) (a), (b) and (d) only

\
12. More productive employment demands :

w

(1) "~ Rervasive use of technology (2) Limiting competitive market place
(3) Geo-political considerations (4) Large industries
eanos [[FMHNMIMRNAT
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Fr=feafea ey &t s ¥ ue 3R Wy WEAm 11 | 15 9k o 3UY S

Ifg IRA I T STiafer il foemfad 3t 8, o STl 9 Tiaviia &) — Siar, Faor
srefereeen SR WM fedi 1 = H Wad gu URiiehld STavaehiviadesli W &M Hhid & el 3
TN STevahToiadd U <) =M, THg, R ot &4 Wt § S a9, SATIR U Weifieht &t
3TYfes Tiaeiiara § .90 T, IR S RS S5 @edi i 31X STRR &l § | 3911 I8 A § fof 59 =
3T & Heol H ST 1 eTrehieneli § FR &1 W uRad, afvees vy # steferaen au 9mils e amet
fea & ufiea o drenfienra wfsa foe €9 9 meayqul €1 99 3fae™ % go 8 e famm wqman &
¥ IR THH SUAM agdt gfawuyt o 9k H Wrenfirenr it eifus Scaes UsIIR e qen
HHE- Tl BT ST S T FY e | Hewt £ 1 SR % s Sy & o a6 o A
e T i o et ferdhTe e o TR | e ) e Wi % A et e o w
Y 1990 % T o 915 § SRR T Bl o1 W &1 hs o STI&E1 H W Ra &l vfea 39l
J-Teiifaen Geof o weifaa wfaq =it feafa & wardt €1 wer faerfad <o 97 & arewied frlt of <o & fau
ﬁfwwﬁaﬁﬁﬁ%ﬁﬁ%—w%ﬁwwﬁﬁmﬁ%wmﬁﬁﬁﬁw
FW @A H wHe o e § 1 - AT wEl R o = e TR W SR AR
G B AT ST T O Ul Teiree Helel ean YR wel & A fe Ser A sra R € -
AT gfteat | WeNfirh! ek Tecqul 3TTa ¥ 1 WrenfiTehl W eTienehd etfuh il skt sTufefa | fre wla
STTGeRAl 3T HeHa™ UThfden SHTEAl St il ol |1 SR el Fehdl 71 1= '’ scaeeRar a1 f=
T -G @ IS TRy s st e S ) ged s Eh e ¥ | e S T
T e deh TEa IR 98 Siad YoM ehw,{wéhma%’ﬁ?ﬁ’rf%ﬁsﬁaﬁ{ﬁuﬁaﬁﬁmqaww
e § | Waﬂwﬁ.@%ﬁ.ﬁq@ﬁﬁﬁ‘@@aﬂfwwaﬁwmaﬁ TR faeer # fesmea
F TR SR fafida ‘oA wfEe # Wi A ee was Y, SUr 3R a9 % ad W
el &l B Fehal | awwfﬂwqqﬁfﬁtwﬁéﬁ@mmﬁﬂmﬁﬁﬁ?ﬁﬁWﬁﬁm
Ureifirerta wifeal ol faenfaa e faefad wRa &t sed T &l TR & & o geaqut §1

11. Wmﬁwéﬁmﬁf@aﬁﬁaﬁqaﬁwﬁ?ﬁmw%?

(a) SH-THIT (b) emyfer wifastierar
() Afvee af¥ez § sreferemen (d) s fe

F W: 4
(1) e (), (b) 3R () (2) e (b), () R (d)
() ¥ (@), (9) R (@) (4) ¥ (@), () MR (Q

(
12. 31 ek USTR el 31 o fou meeaes ©

(1)  ifehfire) w1 o SRERIU (2) wfdEayicTeh STSTR A1 TRRT ST e
(3) Y-TsHifae Ha-faar (4) fauma 3=

eaooss [1NAIOANINORT
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13. Absence of technology would lead to :

(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most

Code :

(1) (a), (b) and (c) only (2) (b), (c) and (d) only

(3) (a), (b) and (d) only (4) (a), (c) and (d) only

14. The advantage of technological inputs would result in :
(1) Unbridled technological growth (2) Importing plant machinery
(8) Sidelining environmental issues (4) Lifting our people to a life of dignity f
I’ [

P
[

15. Envisioning a developed India requires :
(1) Aspiration to become a major economic player
(2) Dependence upon projects designed abroad
(3) Focus on short-term projects il (
(4) Development of core technological streng!ﬁs -

.-'
16. Differentiation between acceptance and ngn-acce tande of certain stimuli in classroom
communication is the basis of : S

(1) selective expectation of performance

(2) selective affiliation to peer groups .-
(3) selective attention 4 f
(4) selective morality

<J

17. Assertion (A) : The initial m&:s‘gages to students in the classroom by a teacher need not be
critical to establish interactions later.

Reason (R) : More control over the communication process means more control over
wha‘t thesstudents are learning.
Code : ' {

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) . Both (A) and (R) are true, but (R) is not the correct explanation of (A).
() (A) is true, but (R) is false.

(4) (A) is false, lbut/(R) is true.

18. Assertion (A) : To communicate well in the classroom is a natural ability.

Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.

Code :

(1) & Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) " Beth (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4)

HIHI“IH\IIHIH

) is false, but (R) is true.

o
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13. rEnfirnt ot stufeafa & forgent wmt wera grm 2
(a) A TG (b) HHSH WTehfdsh HETEH] i sfelial

) T =i qoa-dada (d) AT TS AT I HeIY SR TREH
EA\R‘:
(1) e (a), (b) 3 (c) (2) EE (b), (o) AR (d)
(3) A (a), (b) 3R (d) (4)  HFE (a), (o) 3R (d)
14. YRR STRTGT o 19 K1 9ROMT AT ¢
(1) AfERE g H9ig (2) HA WA 1 ST /s

(3) TATaRl Haielt YR 1 A0 HIAT (4) %ﬂﬁ@ﬁ@vﬁﬁmﬁwﬁq—iiﬁﬁqgﬂw .

15. foofad YRA &1 He9H1 I THR HH & AU A6 ©
(1) 9q@ eTfeler ufed s 1 STehian
(2) forew H AR =t 78 s X s d
(3) rhIfereh GRSl W e Hfgd w4
(4) Hhf=ew drenfirnr wifed 1 fawma #,f’

Ill- I|
16. &I TEEU H FT IEIh] bl TR R yw“lchlefil ¥ ot fadie fergen ommem €2

i i
{

(1) foareT =i =S emean
(2) Hef TRl ok WY TIACHE TGl Jj J
(3) TEHE M " m .
(4) =EATHS Afdehd ( "‘ ,
17. 3R (A) : mwmmqi}@ﬁﬁﬁqmw&ﬂwﬁ%ﬁwmﬁ 7q: fspan Tenfud 1 &
T ARl ST 7 7 |
e (R) : FEOT kAT W sT9eThd Aty fraE 1 ffede Bl gr sttt W edansda
afu'?ﬁﬁaam 2
e : {
(1) (A) T (R) T ¥, R (R), (A) T W& =0e €
(2) - (A).TE (RYSH § §, AfFA (R), (A) T W& =0 T g
/S (3) (A)EE T, @ (R) Terd €|
L @) (A)W%,mi (R) 9&t 1

18. AR (A) : el H IS €T W TEITO] HIAT Teh TG &THdT |
qe (R) : | hefl B gorrelt feror 3 ferw T withe i e ¢ |

g‘,(A)QEf(R)?ﬁ'—ﬁE%‘T%\‘,aﬂ'{(R),(A)EI?rE%"TSQT@T%\’l
(2) = (A) W& (R) 3 W@ T, Al (R), (A) FT HEI = T T
(3) (A) &I g, Afehd (R) T 2|
(4) (A) Ted B, &fRA (R) W&

eaooss [[NNORNINNLNT =
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19. Assertion (A) : Classroom communication is a transactional process.
Reason (R) : A teacher does not operate under the assumption that students’ responses
are purposive.
Select the correct code for your answer :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
(4) (A) is false, but (R) is true. {
rd
20. Which of the following set of statements is correct for describing the hunian communi€ation
process ?
(a) Non-verbal communication can stimulate ideas. . ¢
(b) Communication is a learnt ability. r |
() Communication is not a universal panacea., * - (
(d) Communication cannot break-down. < .
() More communication means more effegtive learniné by students.
(f)  Value of what is learnt through classrdom co umcatlon is not an issue for students.
Code :
(1) (@), (c), (e) and (f) (2) (b, d(f)
(3) (@), (b), () and (d) L@ @
<l
21.  The next term in the series | ( <
-1,5,1529, 2 .. ™
is: .
(1) 36 § (2)7 47 3) 59 4) 63
L
22. The next term in the series
ABD, DGK, HI&IS, MTB, SBL, , e
s jf
(1) ZzZKU (2) ZCA (3) ZKwW 4) Kzu
23. If VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :
(1) LOQOZEH (2) HLZEOOQ (3) ZELHOQO (4) LQOOFZH
i
24, Intrc;dgc'mg Rakesh to her husband a women said, “His brother’s father is the only son of my
grandfather”. The woman is related to Rakesh as :
(1) Aunt (2) Mother (3) Sister (4) Daughter
eocoss | {HNIANONNERY -
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19. SR (A) : eI TEIYYT Uk feRanf-afashil Hishan ¥ |

& (R) : w15 i feren 39 W=Ia1 o ST S T R foh B Rt SR HRed Bt
gl
T IR o ToTw W e I :

(1) (A) T (R) IH T& &, 31 (R), (A) FT T ARAT T |
(A) W& (R) SHi T& ¥, A (R), (A) Tt Tl A8 716

(2)

3) (A) W& ¥, Aferd (R) Ted B &

(4) (A) 7T B, AfRA (R) T8 T /s
20. WWW%W%WHHF@T@dﬁ@eﬁlwlﬁﬁm‘ﬂﬂ?ﬂrﬂﬁ%?

(a) TeNfege TR faami ol I R Hhd ¢ |

(b) T T AT &HA T | ke

(c) T Tk wrEHH T T R B w |

(d) = Efed T 8w f"{ =

©) ﬁwa@wwaﬁwﬁmﬁwwﬁﬁw%

(f) Wﬂ@w%mmﬁaﬁ@@wu@mﬁmw@ﬁ%‘l

<

(1) (@), () () 3R (H G RNLACY '(e)?'ﬂT’(f)

(3) (@), (b), (o) ¥R (d) @ (@ ()l (D)

< i’

21. el Vi

-1, 5, 15, 29, "

w o e o« -

1) 36 { (2) (A7 3) 59 4) 63
22. @t 'y

ABD, DGK, Hf/}; MTB, SBL,

[ s eref e |
(1) ZKU . (2) ZCA 3) ZKW 4) KzU

23. AQGVARANASI llem %2 WCUESGZQ %, d KOLKATA @l %e BI :
(1) LOQOZEH (2) HLZEOOQ (3) ZELHOQO (4) LQOOFZH

24, O S A T R T R F g H, 5w i fown R F A ) e
il AT F T A E 2
(1) = (2) = (@) (4) o

eaooss [[INAIANIROALT =
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25. Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio becomes
1: 2. The numbers are :

(1) 16, 40 (2) 20, 50 (3) 28,70 (4) 32,80

26. Superiority of intellect depends upon its power of concentration on one theme in the same
way as a concave mirror collects all the rays that strike upon it into one point.

What type of reasoning is entailed in the above statement ? "
£
(1) Mathematical (2) Psychological (3) Analogical (4) Deductive

4
27.  Given below are two premises (A and B). Four conclusions are drawn frdm them. Seléct the
code that states validly drawn conclusion(s) (taking the premises individually or/jointly).

L

Premises :

r

(A) Most of the dancers are physically fit. i {
(B) Most of the singers are dancers. // P

Conclusions : F i
| I

f I
f i

(a) Most of the singers are physically fit.
(b) Most of the dancers are singers. \ ]
(c)  Most of the physically fit persons are dancers. ofj
(d) Most of the physically fit persoqskare singers. { ’

Code :

£
1) @and®) () ( ?nd © () ©and(d) @4 (dand(@
28.  Which one among the following is a presupposition in inductive reasoning ?
(1) Law of identit;l;i. - (2) Unchangeability in nature

(3) Harmony in nature | (4)  Uniformity of nature

29. If the propositiﬁn ‘domestic animals are hardly ferocious’ is taken to be false, which of the
/ following propoa?ﬁox_l/ propositions can be claimed to be certainly true ? Select the correct
code : | Y

Propositions :

(a) .. All domestic animals are ferocious.

(b) Most of the domestic animals are ferocious.
(C)I'l. No domestic animal is ferocious.

(d) * Some domestic animals are non-ferocious.

Code
(1) (a) and (b) (2) () only (3)  (¢) and (d) (4)  (b) only
eocoss IO AR~ =

www.examrace.com



25. < HEAs w1 UM 2: 5% | Afe AT Tl # 16 el STl S 3194 1: 28 S €1 3 Gy
g

(1) 16, 40 (2) 20, 50 3) 28,70 (4) 32,80

26. YT Il fRHt Tk fIwg o IR H SHhT Thal wfed W SH JhR X el © 579 YR shiehd
TUU 39 R g At At foheon ol uah fomg W Hufed & 7
ST FoF B fohd YR &1 a fafed €2 -
1) Tford (2) TR O RIED (4) ﬁmq%wf,
27. A9 MR A (A iR B) feU L ¥ | T AR Frehd e O ¥ | 39 e o1 = eSS
wﬁﬁwﬁqﬁﬁﬁﬁﬁﬁm%(aﬂwa@ﬂﬁmaﬁiwmﬁéwﬂ
MR T 5
(A)  sIfespie i AR w9 § fre §1 o \
(B)  iferehier MR i ¥ A 7
foreend / '
(a) stferesier T W w9 & fire ¥ J
(b) i T T ¥ \‘/
(c) sTferepier Wi &9 | fihe =afad =de ¥
(d) iy TR w9 @ fre o e € | f
W: 1\'1{ -
(1) (a) 3 (b) (2) (B)FR () (3) (o) ¥R (@) 4) () ¥R (a)

28. frefafed § § SFULSTmATS d%h § qd-hfead § 2
(1) oo & fam ) wefa § srafed-rem
3) Wﬁrﬁ%‘mﬁw (4) TH B THEIA

29. Wwwwaﬁ% Ifs 39 yfdwfa i /e O foan 5 €, @t fefafed § 9 frg emem
-'-W/WWWﬁWWQWWWWWWW%7 & F F =TI I
ST dTeHT
(@) T Treiq Y] TER B4

b)  3fereRieT U I GER B ¢ |

o) HE ot I UY WER T e

d) ¥ 7 er 7Y GER T e €

Fe: |

(1) (a) ¥R (b) (2) I (a) (3) (o) ¥ (d) (4) o (b)

eaooss [[INMIANIROT =
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30. Which one of the following statements is not correct in the context of Venn diagram method ?
(1) Itis a method of testing the validity of arguments.
(2) It represents both the premises of a syllogism in one diagram.
(8) It requires two overlapping circles for the two premises of a standard-form categorical
syllogism.

(4) It can be used to represent classes as well as propositions.

The table below embodies data on the production, exports and per capita consump‘r'tion of rice
in country P for the five years from 2012 to 2016. Answer questions 31 - 35 based on sl{e‘data
contained in the table. H

Year-wise Production, Exports and Per Capita Consumption of{Rice

Year Production Exports Per Capita Consumption
(in million kg) (in million kg) (in kg)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

Where, Per Capita Consumption =1£oi;15umption in million kg) + (Population in million)
and consumption (in million kg) =]Erﬁ)dlf‘ction— Exports.

31. The percentage increase in the consumption of rice over the previous year was the highest in
which year ? <

1) 2013 {(2)} 2014 (3) 2015 (4) 2016

32. What is the Rop'ulation of the country in the year 2014 (in million) ?
(1) 2.64 . (2 272 3 2.79 (4) 2.85
33.  The ratio of expolfts to consumption in the given period was the highest in the year :

1) 2012 2) 2013 (3) 2014 (4) 2015

|
34. Inllwhich year, the population of country was the highest ?
(1)}, 2013 (2) 2014 (3) 2015 (4) 2016

i F
35. What is the average consumption of rice (in million kg) over the years 2012-2016 ?
104 (2) 1021 (3) 108 (4) 100.1

ey
eoooss [|{HIANOO AR~ =
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30. Tr=fafad § 9 e s oF fo fafy & ded ¥ we =@ ¢ 2
) B e i AUl <k TI&T0 h Teh oty 8

(1
2) % U fod H = et o ST SR ARl Rl URfid e ¢
3

) 3HH U = a1 o T 9 o SR Al oh ford TRER AT QI gl i ATkl

BT

(4) TR S <k ST ST R bl FefAq FT o e S fepan S whar &1

Freifera wferert @ ferelt Sot P & o wier =it 2012 | 2016 T =TaeT & ST, ﬁ'qfaraﬂ'ruﬁr
e STUNT & oY | MRS AR &1 TH AT(IhT ¥ {dU T ARSI oh MR U W9 WE&AT 31 - 35

{

& ST Gy |
T 1 FY-aR Ieared, A iR ufa =fad susim
- I IERIG] gfa Afa TR

(Taferem fremm ®) | (Taferm feeinm ) (fremm #)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

S, ufa =Afe ST = (ST ‘ﬁ%?q'—r fremm ®) « (SEen fafasa #) R sgum

(Taferzm foramm &) =3aeT—fafq, ©

31. Fmaﬁﬁﬁwaﬁaﬁwﬁw%ﬁwﬁﬂﬁwﬁwmﬁ%@?

1) 2013

' (2) {2014

3) 2015

32. o9 2014 H <9 I S (fafersm §) fordat of 2

L1 264

AN (2 272

3) 2.79

33. form o =i srafy W frafa oIk usi 1 o1gura Haffees o ?

(1) 2012

2) 2013

I
34, < HI SAEEA fh I6 | waifue of ?

(1)'4 2013

2) 2014

(3) 2014

3) 2015

(4) 2016
(4) 2.85
(4) 2015
4) 2016

35. o9 201'—2-2016 &) Aty H =red i f9d Sudm (fafeem feam) feam 22

(1) 104

)
eanoss [ TAIRCNAIRANAR

2) 102.1

3) 108

17

(4) 100.1
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36. Which of the following statements, regarding the term ICT is/are TRUE ?
P: ICT is an acronym that stands for Indian Classical Technology.

Q: Converging technologies that exemplify ICT include the merging of audio-visual,
telephone and computer networks through a common cabling system.

(1) Ponly (2) Qonly 3) Pand Q (4) Neither P nor Q

37. A new Laptop has been produced that weighs less, is smaller and uses less ]?Qwer than

previous Laptop models.
4

Which of the following technologies has been used to accomplish this ? d
(1) Universal Serial Bus Mouse (2) Faster Random Access Memory F
(3)  Blu Ray Drive (4) Solid State Hard Drive

L

r

38. Given the following email fields, which of the emaﬂ qddresse§ will ‘swami’ be able to see
when he receives the message ? E

To... | ram@test.com II."r . I.'

Cc... raj@test.com; ravi@test.com f \ _-f

Becc... | swami@test.com; rama@test.com ‘j

(1) ram@test.com 4 f "

(2) ram@test.com; raj@test. COy rgvi@test.com

(3) ram@test.com; rama@test foﬁ!’l

(4) ram@test.com; rama@test.com; raj@test.com; ravi@test.com

39. Put the following units of‘storage into the correct order, starting with the smallest unit first
and going down to the largest unit :

(a) Kilobyte | (b) Byte (c) Megabyte
(d) © Terabyted (e) Gigabyte (f) Bit

4 Give your answ fro_lm the following code :
@ ©, ), @ ) @@ @ ®, 0), @ @ @) ©

®) ) (b), (@) © ), (@ @) (®), (b) (@) (d), (©) (e)

40. W%th regard to clomputer memory, which of the following statement(s) is/are TRUE ?
P Read Only Memory (ROM) is “volatile’ memory.
Q: . I?_andom Access Memory (RAM) is “volatile” memory.
R: Secondary Memory is ‘volatile” memory.
(1) Ponly (2) Qonly (3) PandQonly (4) P andR only

eocoss | {HNIANONERD =
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36. STR.ELI. vig 9g & 9N H fFrAfafEad § @ smd/ard wUT wE §/% 2
P: T3 Yermerdt AW T, e qu W e Feiiea St €
Q: S % imia 3 ufkomdt yrafert wfifera ¥ foe sfarfa goa-gwa, Qo iR Frgex
(HTUR) edeh Teh §1e HHM halfail Ul gR1 Haifsid fert d 2 |
(1) aa P 2) FaA Q (3) P3RQ (4) JTAPIARTEQ

37. W T o9erq s fwfor o e &, et wR %W § ofR eifesk @ ® qen oo gt Hieed i

qerT B A fosTelt 1 ST B € | /
TH T FrAfetea # & R Wi w1 s e T § 2 I g
(1) Ifeda SiFa a9 7se (2) TRRRR W THY HAR

(3) AT (4) wifas w2 o 3Ea

38. Frefafed Sier wioed § @ ‘ol i G391 fier waE M ¥ $He ol G ST g 2

To... | (TH@IE & ,.'f

Ce... | TS@R.HM; YI@IE HMH / \ J

Bee... | @M@ &; THI@ITE. ST ‘./
@ HE " m '

(1)

(2) THQIE.SHIA; TSI@QTE. I, T%r@{dé.qom

(3) THQTE.SHIA; THIQTE. eﬁf [ ¢

(4) THQTR.HIA; THIQTE HiF, TN@IE. SiH; (@I A

39. Wﬁﬁmﬁf@q@ﬁﬂémﬁmmmwmﬁwqm@ﬁw
SHIE i R A ST

() fepeiramse | (b) e () FmaTEE

() eme & (e) THTeTES 6 fae
ﬁmﬁlﬁaﬁﬁﬁﬁfw,wé\ﬁm:

(1), ®), @) (o) @) (@ ) (@), ®), @), (d) () (©

@) D (®) @, 1) () (@) 4 (@), (b), @, (d) (@) ()

40. FERT IO ¥F AR § Frfefad § § S/ s ug /8
P de slel A (ROM) ‘dferereet’ Fer &1
Q: . YeH THE AUH (RAM) ‘afcesa’ 76 2|
R: et 4 ‘afoerse’ HH ¥
(1) <ad P (2) HIA Q (3) FEAPIARQ (4) A PIFRR

eaooss [[NMIANIRORT -
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41. ‘Fly ash’ produced in thermal power plants is an ecofriendly resource for use in :

(a) agriculture as micro-nutrient

(b) wasteland development

(c) dam and water holding structures

(d) brick industry

Choose the correct answer from the code given below :

(1) (a), (b) and (d) only (2) (b), (c) and (d) only p

(3) (@) (c) and (d) only (4) (@), (), (c) and (d) \ W
42. Which of the following types of natural disasters has no definite beginnfng and end 7

(1) Earthquakes (2) Landslides (3) Hurricanes (4) Droughts
43. Assertion (A) : Indoor air pollution is a serious health hazar({. (

Reason (R) : The dispersal of air pollutantls/_ié rathewlimited in indoor environment.

Choose the correct answer from the code given below : _II
(1) Both (A) and (R) are true and (R) is the correct exfylanation of (A).

(2) Both (A) and (R) are true but (R) is not the co r:)jt explanation of (A).
(3) (A) is true and (R) is false. :
(4) Both (A) and (R) are false. et

A f

44. In terms of their contribution ’Eg"tla_@e total power generation in India, identify the correct
sequence of energy sources - Theimal Power Plants (TPP), Large Hydropower Projects (LHP),
Nuclear Energy (NE) and Rénewable Energy (RE) which includes solar energy, wind energy,
biomass and small hydropower projects.

(1) TPP>RE> LHF > NE (2) TPP>LHP > RE > NE
(3) LHP > TPP > RE > NE (4) LHP>TPP > NE > RE

45. Which of the*fc;,iilowing is considered as major source of pollution in rivers of India ?
¢/ (1) Unregulated small scale industry (2) Untreated sewage
(3) Agricultural run-off (4) Thermal power plants
46. India has the largest Higher Education System in the World after :
(a) The United States of America (b) Australia

(©)\_China (d) United Kingdom (UK.)

Select the correct answer from the code given below :

(1) (@), (b), (c) and (d) (2)  (a), (b) and (c) only

(3) (a), (c) and (d) only (4) (a) and (c) only
eanos [[{{NMIGANNIRE =
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41. < faga ga= o Searfed ‘ weE T’ Uk qatarRr-fadst Sanem €, forgent fras 3w foman i § 2
(a) &9 UE o ®IH HUH

(b) SR g5 & famm o

() diY IR S gRv Haed #

(d) SesEmdH

1= feu T e ¥ 9 W@ W G

(1) e (a), (b) 3 (d) (2) I (b), (o) 3R (d) {

(3) A (a), (c) 3R (d) 4) (@), (), (0) ¥R (d) 7
42. Wﬁwﬁ%mmﬁﬁmﬁﬁaﬁwwaﬂ?mﬁ@ﬁ#%?

(1) o (2) FEe (3) WS (FHT) [ (4) T
43. MR (A) : mzmwwﬁmwﬁ%ﬂvﬁm%l{ (

& (R) : a%r:mfawﬁaﬂﬁqﬁwﬁvﬁ?aﬁﬁw@ﬁﬁ@m%l

ﬂﬁ%ﬁgﬂ@@ﬁ@v@waﬁqﬁq f"

(1) (A) TS (R) 3 @& € iR (R Emi
) )QEI(R ) I T7 T, éfm'—vr(R (A aﬁ%“r ‘Aﬁ%l
3) (A) W& T R (R) e 2|
@) (A) R (R) 3 Tom £ {"" 4
44, YRA ¥ P fogd e § 31k W%ﬁ&aﬁmﬁsﬁa‘f%aﬁtwﬁ IgM hifSIT : 19 forgd
93 (TPP), faemel s/ faga dReEsHE (LHP), TA] St (NE) 3R el e (RE), 5o d9r)
Sll, I Soetl, Sia W AR &7 St o afEee aftwfed €
(1) TPP > RE > LHP > NE (2) TPP>LHP>RE > NE
(3) LHP > TPP > RE > NE (4) LHP > TPP > NE > RE

45. 9RG ot Al HfTAfaRad § 9 forgen! Igu 1 9@ Eid JE S © 2

J () erfafEied g9 wla sEm (2) owhfE afeqwe
NONLE TJ \ (4) T o we
46. Towa ® wra i fammeran =1 e yomedt fora <9 & o€ STt § 2
(a) R T SRR (b) siefemm
(C)I'% = d) IAEes fhem (3..)
2 feu T e F @ W S g
1) (@), O), (© 3@ (2) A (a), (b) 3R (0)
(3) A (a), (o) 3R (d) (4) o (a) 3 ()
eoooss [[{NNMAIAINIANIT =
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47.

48.

49.

50.

Prime Minister Research Fellowship is for students pursuing Ph.D programme in :
(1) State and Central Universities

(2) Central Universities, 1ISc, IITs, NITs, IISERs and IIITs

(3) 1IISc, IITs, NITs, IISERs, IIITs, State and Central Universities

(4) 1IITs and IISc

Leader of the Opposition is a member of committees which select : ¢
(a) the Central Information Commissioner L
(b)  the Central Vigilance Commissioner { r

(c) the Chairperson of National Human Rights Commission

(d) the Chairperson of National Commission for Women = 2
Select the correct answer from the code given below : , [ (

1) (@), O, (© and (d) (2)  (@)(b) and (c) only

(3) (a), (c) and (d) only 4) ..' a), (b) and |(d) only

| I
f /

Which of the following statements are corre;t about‘g \der budgeting ?
(a) Itis a separate budget addressing the specific nzc;s of women.

(b) It assesses the impact of govern;nfnt budget on"w.c-)nLlen.

(c) Itis an accounting exerciss&' | §

(d) It is another budgeting l‘guhlovdétion.

Select the correct answer from the code given below :

(1) (b) and (d) only (2) (a) and (d) only

(3) (a), (c) and (d) énly J{ (4) (b), (c) and (d) only

Which of the.f?ﬁllowing are the barriers to citizen-centric administration in India ?

(@ Wooden and inflexible attitude of the civil servants

(b) Ineffective 1 piementation of laws and rules
(c) Awareness of rights and duties of citizens
(d) . Lack of job opportunities for the youth

Select the correclt answer from the code given below :

(1) (@), (b), () and (d) (2)  (a), (b) and (c) only
@) - (?), (b) and (d) only (4) (a) and (b) only
-00o0-
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47. 9YM H WY wenfyg Fefafed @ 9 faad 9.0 ). wrisd w3 9 861 & ol 2 2?
1) T iR F= fovafarmea
2) w=ra fovafgeme™, o€, o e ., o1 o1 .31, TH.eTE. 3T, o1 .o . Ta.3.3TR. 3R

3T, o112 3T, 3.
(3) STE.SME.TH.TL., oTE.3ME. 21, TH.3ME. 3, oML, S UH.E.31R, 31E.3ME. M3, T67 iR il
favafaame™
(4) TSR, TR 7.1 TH .
48. fager o1 = 7 Aibfadl 1 T TS B €, S =ad hl § r "(1'
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